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() Rk 5 | 1,510,000
() B 1,500,000
5) R 1,520,000
) thAt R AT — L2k 1,520,000
) 5 +T% O 1,470,000
CB) 2 AR R 1,530,000
R 1,515,000
INBFRERR () 1,530,000

KT EAMHL X 100,108 R NAFLAAIZIHE B L EE & 28 A,




N

(ERi28% 9H 2H #dTH)

ol

- 4 WEHERE RO faRiE TE
% 30 HEE™ FERETIS L HOpy

{ﬁ: ?5 ﬁa + =)
T REAMAS X 100,108 P Y2 3151

% # 4 VAL A ’;:LJ & fis

(Bk) FTER 1M 2,790,000
(B) RER 2,800,000
(B) R R 2,800,000
CH) AR —(F 2,800,000
R E+tT 2,780,000
() 2 K E O 2,725,000
2R 2,790,000
TR T3 2,825,000
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